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: - Part-A
L Choose the correct answer: 14x1=14
1) Iff:A=Bis a bijective function and if n(B) = 7, then n(A) is equal to
a) 7 b) 49 )1 d) 14
2) f(x) = (x+1)3 - (x-1)3 represents a function which is
a) Linear b) Cubic ¢) reciprocal d) quadratic
3) GivenF, =1, F, = 3 and F,=F,_,+F,_,then Fis
a) 3 b) 5 c) 8 d) 11
R O | .
4) The next term of the sequence T TI
1 1 2 l
) 52 b) c) 3 d) &
5) If (x-6) is the HCF of x2=2x-24 and x2-Kx-6 then the value of K is
a)3 b) 5 c) 6 d) 8
6) Graph of a linear equationis a
a) straight line b) circle ¢) parabola d) hyperbola
7) Atangent is perpendicular to the radius at the
a) centre b) point of contact ) infinity d) chord
8) The area of triangle formed by the points (-5, 0) (0, -5) and (5, 0) is
a) 0 sq.units b) 25 sq.units c) 5 sq.units d) none of these
9) The slope of the line joining (12,3) (4, Q) is % , the value of 'a' is
a)l b) 4 c) -5 d) 2
10) If x =atan®and y = b sec 6 then
y.- X° Xy Xy Xy
a) b2 & l b) 2 b ! c) a:+b2 l d) a? b 0
11) The total surface area of a hemi-sphere is how much times the square of its
radius
a)n b) 4r c) 3n d) 2n

12) The ratio of the volumes of a cylinder, a cone and a sphere, if each has the
same diameter and same height is ‘

a)1:2:3 b)2:1:3 c) 1:3:2 d) 3:1:2
13) Variance of first 20 natural numbers is
a) 32.25 b) 44.25 ©€)33.25 . d) 30

14) If the mean and coefficient of variation of a data are 4 and 87.5% then the
standard deviation is
a) 3.5 b) 3 c) 4.5 d) 2.5
Part-B.

II. Answer any 10 geustions: (Q.No. 28 is compulsory) 10x2=20

15) If AxB = {(3, 2), (3, 4) (5, 2) (5, 4)} then find A and B
16) If f(x) = x2-1, g(x) = x-2, find a, if gof(a) = 1

17) If 13824 = 22x3P then findaand b .

18) Find the 8" term of the G.P. 9, 3, 1, ......

19) Solve x4-13x2+42 =0

5 4
6 -5

21) The length of the tangent to a circle from a Point P, which is 25 cm away
from the centre is 24 cm. What is the radius of the circle?

20) Verify that A2 = I where A =

. 22) Show that the points (-2, 5) (6, -1) and (2, 2) are collinear.

23) Ifthe straight lines 12y = -(p+3)x+12, 12x-7y = 16 are perpendicular then find 'P'

i inA
24) Prove that i + = =2 cosec A
l+CosA |-cos

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

\

- www.Padasalat.Net™ ~ www.Trb Tnpsc.Com

TsiloM | 2

25) If the total surface area of a cone of radius 7 cm is 704 cm?, then find its

slant height.
26) Two coins are tossed together. What is the probability of getting different

faces on the coins?

27) If Aand B are two events such that P(A) = % ,P(B) = % ,and P(A and B) = % .

‘Find (i) P(A or B) (ii) P (not A and not B)
28) An aluminium sphere or radius 12 cm is melted to make a cylinder of radnus 8cm.
Find the height of the cylinder.
Part-C

III. Answer any 10 questions: (Q.No.42is compulsory) 10x5=50

29) Let A = {xeN/1< x <4}, B = {xew/0<x < 2} and C = {xeN/ x < 3} then
verify that Ax(BNC) = (AxB)n(AxC)

Xx+2  x>1 - R /08
30) If the function f is defined by f(x) = 2 | "31 =X = 1] \/
TTS e Lo %o

Find the values of (i) f(3), (ii) f(0), (iii) f(-=1.5) (iv) f(2)+f(-2)

31) Inan A.P, sum of four consecutive terms is 28 and the sum of their squares
is 276. Find the four numbers.

32) Rekha has 15 square colour papers of sizes 10 cm, 11 c¢m, 12cm, .... 24 cm.
How much area can be decorated with these colour papers?

33) Find the values of m and n if the polynomial are perfect square.
36x*-60x3+61x2-mx+n

11 12 -7 6 . '

34) IfA= _; 5, B= 4 ,,C= 3 verify that A(B+C) = AB+AC

35) State and Prove Thales theorem. '

36) Find the value of K, if the area“of a quadrilateral is 28 sq.units, whose
vertices are taken in the order (-4, -2) (-3, K) (3, -2) and (2, 3)

37) Two ships are sailing in the sea on either sides of a lighthouse. The angle of
elevation of the top of the light house as observed from the ships are 30°
and 45° respectively. If the lighthouse is 200 m high, find the distance

between the two ships. (\/g = 1.732) _

38) An industrial metallic bucket is'in the shape of the frustum of a right circular
cone whose top and bottom diameters are 10 m and 4 m and whose height is
4m. Find the curved and total surface area of the bucket.

39) A solid sphere of radius 6 cm is melted into a hollow cylinder of uniform
thickness. If the external radius of the base of the cylinder is 5 cm and its
height is 32 cm. then find the thickness of the cylinder.

40) Find the co-efficient of variation of 24, 26, 33, 37, 29, 31

41) Two dice are rolled together. Find the probability of getting a doublet or sum
of faces as 4.

42) Find the équation of a stralght line through the lntersectlon of lines
5x-6y = 2, 3x+2y = 10 and perpendicular to the line 4x- 7y+13 -0

Part-D

. Answer all the questions: . 2x8=16

43) Construct a triangle similar to a given triangle PQR with its sides equal to

% of the corresponding sides of the triangle PQR (Séale factor% > 1) (OR)

Draw the two tangents from a point which is 10 cm away from the centre of
a circle of radius 5 cm. Also, measure the lengths of the tangents.

44) Draw the graph of xy = 24, x,y > 0 using the graph find (i) y when x = 3 and
(ii) x wheny = 6. (OR)
Draw the graph of y = x2-4x+3 and use it to solve x*-6x+9 = 0.
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